14931.1
14931.1

gooogao NTS51314+NTS91052B+NTS90
oo LED2700_70_925 «x1 925.0 Im
0000 K0156322 (1) DJ 1
oood Bz1
gl 80 % 70 % 50 % 30% 0 %
0000 103 % |U
0o |7ols0]30]10]70]50]30]10]70]50]30[10]70]50[30]10]0%
oooo 0% |0]p 10 % 10 % 10 % 10% |ou
oo0ono 103 % 000 000 ( X0.01) ZCM
N 0.67 0.6 hodoolos|oshodoolo7|ochooalo7|ochodfoas|a7]|os|os
000 1 o s3 0.8 hodrothoooohostothoooshodtodooloshothoooaolos|o7
0 4 s 1.0 hospostothoonodioiothootoshiodioooohodiothodoo]os
————1. 25 hoetodiosothoshodiodhothosdiodiothothostoziothoooo
nooond DD21.510000000000000000199
oooood U0 2.0 hosroehoshodioocrodiososhodiosiorososnoziooo
0o D0o0ooo0o 2.5 hoshorhoetoshohoetospodioehioshodiodiosdhostodiozhod
00 |ooooo0 |oooo000 |3.0 hodhoshohostogiohostoshostostostosiosiosiososodl
Hol o.23H; | 0.23Hy |4.0 podroshoshopogiohorostosogiosiosiosfososostodn
5.0 h1otodioshogdiogiosiomororoeostoshosioaodoadod
7.0 hiotoohoohosgiooshogiogioiorosioetoelostoshoaodo?
10.0h1ot1oh1otodiogioohogiosioriooroeo5foshosho4ioo2
1490°
D DI_I_\I_\!_\FT M 8 fe X 100
=L A GEa: NN S i e g PI N
g 0o gopuoguoa 0 |D|
Yoot
owr H E
l/'4 H=D
0° 3 H/// H=02 . §
_V/, H=8
/l
d H=1
-
H=
olnl aoln’ l,/,
6-0-0
—— IIII
| B
I I.
v
o
: : 3 0

O0podoooogn



